BID TABULATION FOR: BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.		
BIDDER'S NAME	TOTAL AMOUNT BID	TOTAL AMOUNT BID INCLUDING ALTERNATE PAVING AND APPURTENANCES IMPROVEMENT AND MISCELLANEOUS ITEMS
1) DIMAS BROS. CONSTRUCTION	\$942,000.00	\$1,611,840.00
2) R CONSTRUCTION CIVIL, LLC	\$978,967.40	\$1,648,388.15
3) PRINCIPAL SERVICES, LTD	\$1,032,727.58	\$1,761,456.73
**A BID FROM BLAZEY CONSTRUCTION SERVICES, LLC WAS RECEIVED AND WAS FORMALLY WITHDRAWN.		
CALENDAR DAYS: BASE BID - 40/45, ALTERNATE BID - 90/100	THLEEN KINCHEN 136244	
KUMUM KINCHIM		

I, Kathleen Kinchen, P.E., hereby certify these bid tabulations to be true and correct.

BID TABULATION FOR: BID OPENING DATE: BID OPENING LOCATION: TABULATION DATE: LJA JOB NO.				CONSTRUCTION OF THE & PAVING AND APPURTE BRAZORIA COUNTY MUN CITY OF ALVIN, BRAZOR MARCH 1, 2024 LJA ENGINEERING, INC. C CORTEZ MARCH 4, 2024 1931-7913 A&B (9.2)	NANCES TO SERVE WA	CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAIN & PAVING AND APPURTENANCES TO SERVE WATERMARK ! BRAZORIA COUNTY MUNICIPAL UTILITY DISTRICT NO. 81 CITY OF ALVIN, BRAZORIA COUNTY, TEXAS MARCH 1, 2024 LJA ENGINEERING, INC. C CORTEZ MARCH 4, 2024 1931-7913 A&B (9.2)				
				1) DIMAS BROS. CO	ONSTRUCTION	2) R CONSTRUCTIO	ON CIVIL, LLC	3) PRINCIPAL SE	RVICES, LTD	
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	
WATER SYSTEM ITEMS										
1 8" P.V.C. WATER PIF	PE, C-900, DR 18, CLASS 150, ALL DEPTHS, COMPLETE IN PLACE	LF	2440	\$38.00	\$92,720.00	\$36.00	\$87,840.00	\$56.30	\$137,372.00	
	T, ALL DEPTHS, INCLUDES APPROPRIATE TEE, 6" GATE VALVE 9 FIRE HYDRANT, COMPLETE IN PLACE	EA	6	\$7,169.00	\$43,014.00	\$7,500.00	\$45,000.00	\$7,331.00	\$43,986.00	
3 8" AWWA GATE VAL	VE & BOX, COMPLETE IN PLACE	EA	2	\$1,540.00	\$3,080.00	\$2,100.00	\$4,200.00	\$2,082.00	\$4,164.00	
4 CAST IRON WATERI	INE FITTINGS, COMPLETE IN PLACE	TON	0.46	\$4,800.00	\$2,208.00	\$5,100.00	\$2,346.00	\$1,000.00	\$460.00	
5 TRENCH SAFETY SY	STEM, ALL DEPTHS AND SIZES, COMPLETE IN PLACE	LF	2440	\$1.00	\$2,440.00	\$0.10	\$244.00	\$0.10	\$244.00	
	DSE EXISTING PLUG & CLAMP AND CONNECT PROPOSED IZES), INCLUDES ALL NECESSARY ADAPTERS AND IPLETE IN PLACE	EA	3	\$484.00	\$1,452.00	\$275.00	\$825.00	\$662.00	\$1,986.00	
CONNECTION (PER	OUBLE OR SINGLE "SHORT SIDE" WATER SERVICE CITY OF ALVIN STANDARD DETAILS), INCLUDING ALL RE, METER BOX, AND TRENCH SAFETY, COMPLETE IN PLACE	EA	17	\$828.00	\$14,076.00	\$1,650.00	\$28,050.00	\$1,326.00	\$22,542.00	
CONNECTION (PER	OUBLE OR SINGLE "LONG SIDE" WATER SERVICE CITY OF ALVIN STANDARD DETAILS), INCLUDING ALL RE, METER BOX, AND TRENCH SAFETY, COMPLETE IN PLACE	LF	1901	\$21.85	\$41,536.85	\$34.00	\$64,634.00	\$26.00	\$49,426.00	
WATER SYSTEM ITEMS SI	JBTOTAL:				\$200,526.85		\$233,139.00		\$260,180.00	
SANITARY SEWER SYSTE	M ITEMS									
1 8" PVC SEWER PIPE PLACE	, ASTM D 2241, SDR 26, CLASS 160, 0'-12' DEPTH, COMPLETE IN	LF	1155	\$40.65	\$46,950.75	\$36.00	\$41,580.00	\$44.00	\$50,820.00	
2 10" PVC SEWER PIP IN PLACE	E, ASTM D 2241, SDR 26, CLASS 160, 0'-12' DEPTH, COMPLETE	LF	1276	\$48.10	\$61,375.60	\$45.00	\$57,420.00	\$68.00	\$86,768.00	
3 STANDARD SANITAI – 8' DEPTH), COMPL	RY SEWER MANHOLE FOR 6" – 24" SANITARY SEWER PIPES, (0' ETE IN PLACE	EA	11	\$8,584.00	\$94,424.00	\$4,200.00	\$46,200.00	\$5,540.00	\$60,940.00	
4 FINAL ADJUSTMENT	TS TO SANITARY MANHOLES, COMPLETE IN PLACE	EA	11	\$100.00	\$1,100.00	\$100.00	\$1,100.00	\$1.00	\$11.00	
5 EXTRA DEPTH OF S PLACE	ANITARY SEWER MANHOLES, (OVER 8' DEPTH), COMPLETE IN	VF	8.46	\$235.00	\$1,988.10	\$250.00	\$2,115.00	\$198.00	\$1,675.08	
6 "SHORT SIDE" DOUE SDR 26, CLASS 160,	BLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, ALL DEPTHS, INCLUDING CEMENT STABILIZED SAND /YE, PLUG, DROP, MARKER, STACK, AND ANY NECESSARY MPLETE IN PLACE	EA	28	\$995.00	\$27,860.00	\$1,800.00	\$50,400.00	\$1,891.00	\$52,948.00	
26, CLASS 160, ALL	LE OR SINGLE 6° PVC PIPE SERVICE LEADS, ASTM D-2241, SDR DEPTHS, INCLUDING CEMENT STABILIZED SAND BACKFILL, DROP, MARKER, STACK, AND ANY NECESSARY FITTINGS, PLACE	LF	1359	\$47.85	\$65,028.15	\$57.00	\$77,463.00	\$46.00	\$62,514.00	
NEEDED), (ALL DEP	F OF PIPE (NO SEPARATE PAY FOR DOUBLE ROW IF THS, THIS IS AN ESTIMATED QUANTITY TO BE USED ONLY AT THE ENGINEER), COMPLETE IN PLACE	LF	3790	\$20.00	\$75,800.00	\$20.00	\$75,800.00	\$20.00	\$75,800.00	
	SANITARY SEWER LINES, ALL SIZES & DEPTHS, (TO BE USED CTION OF THE ENGINEER), COMPLETE IN PLACE	LF	2431	\$3.50	\$8,508.50	\$2.00	\$4,862.00	\$0.10	\$243.10	
10 TRENCH SAFETY SY	(STEM, ALL SIZES & DEPTHS, COMPLETE IN PLACE	LF	3790	\$1.00	\$3,790.00	\$0.10	\$379.00	\$0.10	\$379.00	
11 ADDITIONAL COST	FOR MODIFIED "A-A" SANITARY BEDDING (TO BE USED ONLY	LF	500	\$20.00	\$10,000.00	\$20.00	\$10,000.00	\$20.00	\$10,000.00	
	E ENGINEER), COMPLETE IN PLACE				,		,	+0		

BID TABULATION FOR: BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.			CONSTRUCTION OF THE V & PAVING AND APPURTEN BRAZORIA COUNTY MUNIC CITY OF ALVIN, BRAZORIA MARCH 1, 2024 LJA ENGINEERING, INC. C CORTEZ MARCH 4, 2024 1931-7913 A&B (9.2)	IANCES TO SERVE WAT CIPAL UTILITY DISTRICT			CONSTRUCTION OF THE V & PAVING AND APPURTEN BRAZORIA COUNTY MUNIC CITY OF ALVIN, BRAZORIA MARCH 1, 2024 LJA ENGINEERING, INC. C CORTEZ MARCH 4, 2024 1931-7913 A&B (9.2)	ANCES TO SERVE W	ATERMARK {
			1) DIMAS BROS. COM	NSTRUCTION	2) R CONSTRUCTION	CIVIL, LLC	3) PRINCIPAL SERV	VICES, LTD	
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	OTAL COST	UNIT COST	TOTAL COST	
12 REMOVE EXISTING SANITARY PLUG (ALL SIZES) AND CONNECT PROPOSED SANITARY SEWER, COMPLETE IN PLACE	EA	3	\$184.00	\$552.00	\$175.00	\$525.00	\$212.00	\$636.00	
SANITARY SEWER SYSTEM ITEMS SUBTOTAL:				\$397,377.10		\$367,844.00		\$402,734.18	4
DRAINAGE FACILITIES ITEMS									
1 24" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE	LF	1418	\$83.55	\$118,473.90	\$83.00	\$117,694.00	\$96.00	\$136,128.00	*
2 30" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE	LF	56	\$103.65	\$5,804.40	\$117.00	\$6,552.00	\$133.00	\$7,448.00	
3 36" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE	LF	137	\$146.00	\$20,002.00	\$158.00	\$21,646.00	\$181.00	\$24,797.00	
4 48" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE	LF	77	\$213.00	\$16,401.00	\$236.00	\$18,172.00	\$273.00	\$21,021.00	
5 STAGE I – STANDARD 5' PRECAST INLET ("H-2") ALL DEPTHS, (INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLETS), COMPLETE IN PLACE	EA	22	\$1,111.00	\$24,442.00	\$1,400.00	\$30,800.00	\$1,449.00	\$31,878.00	
6 STAGE II – STANDARD 5' PRECAST INLET ("H-2"), (INCLUDES TEMPORARY SAND – FILLED BURLAP BAGS FOR EROSION AND SEDIMENT CONTROL), COMPLETE IN PLACE	EA	22	\$1,635.00	\$35,970.00	\$3,100.00	\$68,200.00	\$2,176.00	\$47,872.00	
7 TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER, ALL DEPTHS, COMPLETE IN PLACE	EA	10	\$5,825.00	\$58,250.00	\$3,300.00	\$33,000.00	\$3,040.00	\$30,400.00	
8 TYPE "C" MANHOLE FOR 48" STORM SEWER AND LARGER, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$6,500.00	\$6,500.00	\$5,500.00	\$5,500.00	\$4,091.00	\$4,091.00	
9 FINAL ADJUSTMENT OF MANHOLE RIM ELEVATIONS, COMPLETE IN PLACE	EA	20	\$50.00	\$1,000.00	\$100.00	\$2,000.00	\$1.00	\$20.00	
10 TRENCH SAFETY SYSTEM, ALL SIZES AND DEPTHS, COMPLETE IN PLACE	LF	1634	\$1.00	\$1,634.00	\$0.10	\$163.40	\$0.10	\$163.40	
11 DEWATERING PER LF OF PIPE (NO SEPARATE PAY FOR DOUBLE ROW IF NEEDED), (ALL DEPTHS, THIS IS AN ESTIMATED QUANTITY TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	844	\$20.00	\$16,880.00	\$20.00	\$16,880.00	\$20.00	\$16,880.00	
12 REMOVE EXISTING BRICKWALL PLUG (ALL SIZES), COMPLETE IN PLACE	EA	6	\$184.00	\$1,104.00	\$650.00	\$3,900.00	\$325.00	\$1,950.00	
DRAINAGE FACILITIES ITEMS SUBTOTAL:				\$306,461.30		\$324,507.40		\$322,648.40	
WS&D MISCELLANEOUS ITEMS									
1 METHOD "A" WS&D CONSTRUCTION STAKING AS PER GBI PARTNERS, L.P. (CONTACT JON BORDOVSKY AT 281.499.4539.), COMPLETE IN PLACE	LS	1	\$12,544.00	\$12,544.00	\$12,544.00	\$12,544.00	\$12,544.00	\$12,544.00	
2 INSTALLATION, MAINTENANCE & REMOVAL OF STABILIZED CONSTRUCTION EXIT, SWMHCA SPECIFICATION NO. 4711, TO BE USED ONLY AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	EA	3	\$300.00	\$900.00	\$3,000.00	\$9,000.00	\$2,000.00	\$6,000.00	
3 CEMENT STABILIZED SAND (TO BE USED ONLY AS DIRECTED BY THE ENGINEER) COMPLETE IN PLACE	CY	500	\$12.00	\$6,000.00	\$12.00	\$6,000.00	\$12.00	\$6,000.00	
4 WATER, SANITARY SEWER, AND STORM SEWER UTILITY SPOIL TO BE USED AS LOT FILL PER THE GRADING PLAN, INCLUDES EXCAVATION, HAULING, PLACING, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	CY	3899	\$3.00	\$11,697.00	\$1.00	\$3,899.00	\$1.00	\$3,899.00	
5 SILT FENCE INLET PROTECTION BARRIERS, SWMHCA SPECIFICATION NO.4511, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	26	\$10.00	\$260.00	\$30.00	\$780.00	\$50.00	\$1,300.00	
6 INSTALLATION, MAINTENANCE, AND REMOVAL OF REINFORCED FILTER FABRIC FENCE SWMHCA SPECIFICATIONS NO.4311, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	3777	\$0.10	\$377.70	\$2.00	\$7,554.00	\$2.00	\$7,554.00	

BID TABULATION FOR: BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.		CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE FACILITIESCONSTRUCTION OF THE WATER, SANITARY & PAVING AND APPURTENANCES TO SERVE WATERMARK SECTION 3& PAVING AND APPURTENANCES TO SERVE BRAZORIA COUNTY MUNICIPAL UTILITY DISTRICT NO. 81BRAZORIA COUNTY MUNICIPAL UTILITY DISTRICT NO. 81BRAZORIA COUNTY MUNICIPAL UTILITY DISTRICT NO. 81CITY OF ALVIN, BRAZORIA COUNTY, TEXASCITY OF ALVIN, BRAZORIA COUNTY, TEXASMARCH 1, 2024MARCH 1, 2024MARCH 1, 2024MARCH 1, 2024LJA ENGINEERING, INC.C CORTEZC CORTEZMARCH 4, 2024MARCH 4, 2024MARCH 4, 20241931-7913 A&B (9.2)1931-7913 A&B (9.2)1931-7913 A&B (9.2)								ATERMARK :
				1) DIMAS BROS. CC	INSTRUCTION	2) R CONSTRUCTIO	N CIVIL, LLC 3) PRINCIPAL SERVICES, LTD			
ITEM DESCRIPTION	1	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	
7 STORM WATER POLLUTION PREVENTION PLAN CONTRACTOR BOOKLET, NOI AND NOT, COMPL		LS	1	\$404.00	\$404.00	\$1,100.00	\$1,100.00	\$500.00	\$500.00	
8 MISCELLANEOUS CLEARING, GRUBBING, AND H MATERIAL AS NEEDED, (TO BE DONE ONLY AT ENGINEER), COMPLETE IN PLACE		AC	1	\$942.05	\$942.05	\$8,500.00	\$8,500.00	\$1,000.00	\$1,000.00	
9 CITY OF ALVIN INSPECTION FEE FOR WS&D PO CONSTRUCTION COST), COMPLETE IN PLACE	RTION (.5% OF TOTAL	LS	1	\$4,510.00	\$4,510.00	\$4,100.00	\$4,100.00	\$8,368.00	\$8,368.00	
WS&D MISCELLANEOUS ITEMS SUBTOTAL: ALTERNATE PAVING AND APPURTENANCES IMPROV	EMENTITEMS				\$37,634.75		\$53,477.00		\$47,165.00	
1 6" REINFORCED CONCRETE PAVEMENT, COMP		SY	8420	\$56.50	\$475,730.00	\$51.00	\$429,420.00	\$53.30	\$448,786.00	
2 6" REINFORCED CONCRETE CURB, COMPLETE	IN PLACE	LF	652	\$3.75	\$2,445.00	\$4.00	\$2,608.00	\$3.50	\$2,282.00	
3 4" X 12" REINFORCED CONCRETE CURB WITH P COMPLETE IN PLACE	OLYETHYLENE FIBERS,	LF	4486	\$3.75	\$16,822.50	\$4.00	\$17,944.00	\$3.50	\$15,701.00	
4 6" LIME STABILIZED SUBGRADE, INCLUDES COM PROCTOR DENSITY, COMPLETE IN PLACE	IPACTION TO 95% STANDARD	SY	8891	\$4.25	\$37,786.75	\$4.00	\$35,564.00	\$5.00	\$44,455.00	
5 LIME FOR SUBGRADE PREPARATION (8% BY WI BY SOIL CONDITIONS AND APPROVED BY GEOT IN PLACE		TON	198	\$334.00	\$66,132.00	\$330.00	\$65,340.00	\$330.00	\$65,340.00	
6 COMMON ROADWAY EXCAVATION TO BE USED AND IN SPECIFIED FILL AREAS, (PER GRADING HAULING, PLACING AND COMPACTION TO 95% WITH MAXIMUM 8" LIFTS, COMPLETE IN PLACE	PLAN), INCLUDES EXCAVATION,	СҮ	4995	\$5.00	\$24,975.00	\$3.85	\$19,230.75	\$6.00	\$29,970.00	
7 FINAL LOT GRADING, INCLUDING RESERVES, S HAULING, PLACEMENT AND COMPACTION OF M STRIPPINGS, COMPLETE IN PLACE		EA	79	\$200.00	\$15,800.00	\$195.00	\$15,405.00	\$225.00	\$17,775.00	
8 MANIPULATION OF DIRT WITHIN THE SITE (TO E THE ENGINEER), COMPLETE IN PLACE	E USED ONLY AS DIRECTED BY	CY	2000	\$1.00	\$2,000.00	\$4.85	\$9,700.00	\$6.00	\$12,000.00	
9 TYPE 7 WHEELCHAIR RAMPS, INCLUDING TRUN STAINED WITH CONTRASTING COLOR PER THE INCLUDES REMOVAL OF EXISTING CURB IF REC APPURTENANCES, COMPLETE IN PLACE	CONSTRUCTION PLAN SET,	EA	2	\$1,600.00	\$3,200.00	\$2,050.00	\$4,100.00	\$1,500.00	\$3,000.00	
10 PERMANENT TRAFFIC CONTROL DEVICES, INCL PAVEMENT STRIPING, MARKERS, REFLECTIVE SIGNS, STREET SIGNS, AND ALL OTHER TRAFF COMPLETE IN PLACE	PAINT ON MEDIAN NOSES, STOP	LS	1	\$3,500.00	\$3,500.00	\$3,900.00	\$3,900.00	\$5,000.00	\$5,000.00	

BID TABULATION FOR: BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.	ONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE FACILITIES       CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAIN         PAVING AND APPURTENANCES TO SERVE WATERMARK SECTION 3       & PAVING AND APPURTENANCES TO SERVE WATERMARK SECTION 3         VAZORIA COUNTY MUNICIPAL UTILITY DISTRICT NO. 81       BRAZORIA COUNTY MUNICIPAL UTILITY DISTRICT NO. 81         TY OF ALVIN, BRAZORIA COUNTY, TEXAS       CITY OF ALVIN, BRAZORIA COUNTY, TEXAS         ARCH 1, 2024       MARCH 1, 2024         A ENGINEERING, INC.       LJA ENGINEERING, INC.         CORTEZ       C CORTEZ         ARCH 4, 2024       MARCH 4, 2024         31-7913 A&B (9.2)       1931-7913 A&B (9.2)								
			1) DIMAS BROS. CO	ONSTRUCTION	2) R CONSTRUCTIO	CONSTRUCTION CIVIL, LLC 3) PRINCIPAL SERVICES, LTD			
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	
11 4" SQUARE DOUBLE REFLECTORIZED BLUE TRAFFIC BUTTONS FOR FIRE HYDRANT LOCATION, COMPLETE IN PLACE	EA	6	\$20.00	\$120.00	\$16.00	\$96.00	\$10.00	\$60.00	
12 REMOVE AND DISPOSE EXISTING TYPE III BARRICADE, ONLY AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	EA	3	\$1.00	\$3.00	\$1.00	\$3.00	\$50.00	\$150.00	
13 HYDRO-MULCH SEEDING OF RIGHT-OF-WAYS AND MEDIANS, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	AC	3.6	\$250.00	\$900.00	\$1,500.00	\$5,400.00	\$1,500.00	\$5,400.00	
14 BROADCAST SEEDING (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE		14.5	\$50.00	\$725.00	\$650.00	\$9,425.00	\$850.00	\$12,325.00	
ALTERNATE PAVING AND APPURTENANCES IMPROVEMENT ITEMS SUBTOTAL:				\$650,139.25		\$618,135.75		\$662,244.00	
ALTERNATE PAVING MISCELLANEOUS ITEMS									
<ol> <li>METHOD "A" PAVING CONSTRUCTION STAKING AS PER GBI PARTNERS, L.P. (CONTACT JON BORDOVSKY AT 281.499.4539.), COMPLETE IN PLACE</li> </ol>	LS	1	\$5,058.00	\$5,058.00	\$5,058.00	\$5,058.00	\$5,058.00	\$5,058.00	
2 INLET PROTECTION BARRIERS, SWMHCA SPECIFICATION NO.4511, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	26	\$10.00	\$260.00	\$30.00	\$780.00	\$50.00	\$1,300.00	
3 INSTALLATION AND REMOVAL OF REINFORCED FILTER FABRIC FENCE (BACK OF CURB) SWMHCA SPECIFICATIONS NO. 4311, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	5131	\$0.10	\$513.10	\$2.00	\$10,262.00	\$1.65	\$8,466.15	
4 INSTALLATION AND REMOVAL UPON COMPLETION OF CONCRETE WASHOUT AREA, COMPLETE IN PLACE	EA	3	\$500.00	\$1,500.00	\$400.00	\$1,200.00	\$2,500.00	\$7,500.00	
5 5' REINFORCED CONCRETE SIDEWALK (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	621	\$2.00	\$1,242.00	\$35.00	\$21,735.00	\$50.00	\$31,050.00	
6 FINAL LOT GRADING AS-BUILT SURVEY TO VERIFY LOT GRADING. SEE LOT GRADING DETAIL OF CONSTRUCTION PLANS, COMPLETE IN PLACE	LS	1	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	
7 6" P.V.C. SCHEDULE 40 IRRIGATION SLEEVES (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	( LF	150	\$35.00	\$5,250.00	\$45.00	\$6,750.00	\$35.00	\$5,250.00	
8 CITY OF ALVIN INSPECTION FEE FOR PAVING PORTION (.5% OF TOTAL CONSTRUCTION COST), COMPLETE IN PLACE	LS	1	\$3,377.65	\$3,377.65	\$3,000.00	\$3,000.00	\$5,361.00	\$5,361.00	
ALTERNATE PAVING MISCELLANEOUS ITEMS SUBTOTAL:				\$19,700.75		\$51,285.00		\$66,485.15	
						÷ 5 .,200.00			
BIDDING SUMMARY									
SUBTOTAL WATER SYSTEM ITEMS	-			\$200,526.85		\$233,139.00		\$260,180.00	
SUBTOTAL SANITARY SEWER SYSTEM ITEMS				\$397,377.10		\$367,844.00		\$402,734.18	
SUBTOTAL DRAINAGE FACILITIES ITEMS				\$306,461.30		\$324,507.40		\$322,648.40	
SUBTOTAL WS&D MISCELLANEOUS ITEMS				\$37,634.75		\$53,477.00		\$47,165.00	
TOTAL AMOUNT BASE BID				\$942,000.00		\$978,967.40		\$1,032,727.58	
ALTERNATE PAVING AND APPURTENANCES IMPROVEMENT ITEMS									
TOTAL AMOUNT BASE BID				\$942,000.00		\$978,967.40		\$1,032,727.58	
SUBTOTAL ALTERNATE PAVING AND APPURTENANCES IMPROVEMENT ITEMS				\$650,139.25		\$618,135.75		\$662,244.00	
SUBTOTAL ALTERNATE PAVING MISCELLANEOUS ITEMS				\$19,700.75		\$51,285.00		\$66,485.15	
TOTAL AMOUNT INCLUDING ALTERNATE PAVING IMPROVEMENT AND MISCELLANEOUS	TEMS			\$1,611,840.00		\$1,648,388.15		\$1,761,456.73	